

Research Article

C-symmetric Toeplitz operators on Hardy spaces

CHING-ON LO* AND ANTHONY WAI-KEUNG LOH

ABSTRACT. We characterize all the Toeplitz operators that are complex symmetric with respect to a class of conjugations induced by a permutation. Our results provide an affirmative answer to a conjecture from a paper of Chattopadhyay et al. (2023) [1].

Keywords: Toeplitz operators, conjugations, complex symmetric, Hardy spaces.

2020 Mathematics Subject Classification: 47B35, 47A05.

1. INTRODUCTION

Let \mathbb{D} be the unit disk $\{z \in \mathbb{C} : |z| < 1\}$ in the complex plane \mathbb{C} and \mathbb{T} be the unit circle $\{z \in \mathbb{C} : |z| = 1\}$. The Hardy space H^2 of \mathbb{D} consists of all analytic functions f on \mathbb{D} such that

$$\sup_{0 \leq r < 1} \int_0^{2\pi} |f(re^{i\theta})|^2 dm < \infty,$$

where m is the normalized Lebesgue measure on \mathbb{T} , i.e., $dm := d\theta/2\pi$. If $f \in H^2$, its radial limit

$$f^*(e^{i\theta}) := \lim_{r \rightarrow 1^-} f(re^{i\theta})$$

exists m -a.e. on \mathbb{T} and the mapping $f \mapsto f^*$ is an isometry of H^2 onto a closed subspace of $L^2(\mathbb{T}, dm)$. The extension of f to $\overline{\mathbb{D}} := \{z \in \mathbb{C} : |z| \leq 1\}$, also denoted by f , is defined such that $f|_{\mathbb{T}} = f^*$. It is known that H^2 is a Hilbert space with the inner product $\langle \cdot, \cdot \rangle$ given by

$$\langle f, g \rangle_{H^2} := \int_0^{2\pi} f(e^{i\theta}) \overline{g(e^{i\theta})} dm \quad \text{for all } f, g \in H^2.$$

The standard orthonormal basis for H^2 is $\{1, z, z^2, \dots\}$. Given $\phi \in L^\infty(\mathbb{T})$, the Toeplitz operator $T_\phi : H^2 \rightarrow H^2$ is defined by

$$T_\phi f = P(\phi f) \quad \text{for every } f \in H^2,$$

where P is the orthogonal projection from $L^2(\mathbb{T}, dm)$ onto H^2 . A more detailed introduction of Toeplitz operators is available in [2, 18]. These operators have also been studied extensively in the literature, for example in [3, 4, 10, 11].

Let \mathcal{H} be a separable complex Hilbert space. A mapping $A : \mathcal{H} \rightarrow \mathcal{H}$ is said to be a conjugation if it satisfies the following conditions:

- (i) anti-linear (or conjugate-linear), i.e., $A(ax + by) = \bar{a}Ax + \bar{b}Ay$ for all $x, y \in \mathcal{H}$ and $a, b \in \mathbb{C}$,

Received: 23.06.2024; Accepted: 22.08.2024; Published Online: 27.08.2024

*Corresponding author: Ching-on Lo; co.lo@cpce-polyu.edu.hk

DOI: 10.33205/cma.1503726

- (ii) involutive, i.e., $A^2 = I$, the identity operator, and
- (iii) isometric, i.e., $\|Ax\| = \|x\|$ for each $x \in \mathcal{H}$.

The adjoint A^* of a bounded and anti-linear operator A is defined to satisfy the property that

$$\langle Ax, y \rangle = \overline{\langle x, A^*y \rangle} = \langle A^*y, x \rangle \quad \text{for all } x, y \in \mathcal{H}.$$

In view of (ii) and (iii), we also have $A^* = A$, i.e., A is self-adjoint.

A bounded linear operator $T : \mathcal{H} \rightarrow \mathcal{H}$ is said to be complex symmetric if there exists a conjugation $C : \mathcal{H} \rightarrow \mathcal{H}$ such that $CTC = T^*$ (or equivalently, $CT^* = TC$). In this case, we say T is C -symmetric (or complex symmetric with respect to C). The study of complex symmetric operators was initiated by Garcia et al. in [5, 6, 7, 8]. These operators play a significant role in control theory, signal processing and non-Hermitian quantum mechanics. Examples of complex symmetric maps include normal operators, Hankel operators, Volterra operators and truncated Toeplitz operators.

Investigation of the complex symmetry of Toeplitz operators on Hilbert spaces of analytic functions was motivated by [9], in which the question of characterizing complex symmetric Toeplitz operators on H^2 was posed. Ko and Lee provided a necessary and sufficient condition for T_ϕ to be complex symmetric with respect to a special class of conjugations on H^2 [12, Theorem 2.4]. This result, together with [13, Theorem 2.11(a)] and [16, Theorem 3.6], was generalized by the authors in [17, Theorem 3.4]. Complex symmetric Toeplitz operators on Bergman and Dirichlet spaces have been studied in [14] and [15], respectively.

Let p be a fixed positive integer. In [1], Chattopadhyay et al. introduced the conjugation $C_\sigma : H^2 \rightarrow H^2$ defined as

$$C_\sigma \left(\sum_{l=0}^{\infty} \sum_{r=0}^{p-1} a_{pl+r} z^{pl+r} \right) = \sum_{l=0}^{\infty} \sum_{r=0}^{p-1} \overline{\sigma(a_{pl+r})} z^{pl+r},$$

where

- (i) $\sum_{l=0}^{\infty} \sum_{r=0}^{p-1} a_{pl+r} z^{pl+r} \in H^2$,
- (ii) σ is a permutation on the set $\{a_{pl}, a_{pl+1}, \dots, a_{pl+p-1}\}$ for $l = 0, 1, \dots$, and
- (iii) the order of σ is 2.

A special case of C_σ is the operator $C_p^{i,j} : H^2 \rightarrow H^2$ given by

$$C_p^{i,j} \left(\sum_{l=0}^{\infty} \sum_{r=0}^{p-1} a_{pl+r} z^{pl+r} \right) = \sum_{l=0}^{\infty} \overline{a_{pl+j}} z^{pl+i} + \sum_{l=0}^{\infty} \overline{a_{pl+i}} z^{pl+j} + \sum_{l=0}^{\infty} \sum_{\substack{r=0 \\ r \neq i,j}}^{p-1} \overline{a_{pl+r}} z^{pl+r},$$

where i, j are any fixed integers such that $0 \leq i < j < p$. They characterized all $C_p^{i,j}$ -symmetric Toeplitz operators on H^2 with additional assumptions on i, j and p [1, Theorem 2.2]. In the next section, we provide an affirmative answer to Remark 2.3 therein that these characterizations are valid whenever $0 \leq i < j < p$.

2. MAIN RESULTS

We will characterize all the Toeplitz operators T_ϕ on H^2 that are complex symmetric with respect to $C_p^{i,j}$ in terms of the Fourier coefficients of ϕ .

Theorem 2.1. *Let $\phi(z) = \sum_{n=-\infty}^{\infty} \hat{\phi}(n)z^n \in L^\infty(\mathbb{T})$ and i, j, p be integers such that $0 \leq i < j < p$. Then the operator T_ϕ is $C_p^{i,j}$ -symmetric if and only if*

$$\hat{\phi}(pl) = \hat{\phi}(-pl)$$

and

$$\hat{\phi}(pl + r) = 0$$

for every integer l and $r = 1, 2, \dots, p-1$.

Proof. Suppose $\hat{\phi}(pl) = \hat{\phi}(-pl)$ and $\hat{\phi}(pl + r) = 0$ for all integers l and $r = 1, 2, \dots, p-1$. Let l' be any fixed non-negative integer. Then,

$$\begin{aligned} T_\phi C_p^{i,j} z^{pl'+i} &= T_\phi z^{pl'+j} \\ &= P \left(\hat{\phi}(0) z^{pl'+j} + \sum_{l=1}^{\infty} \hat{\phi}(pl) (z^{p(l+l')+j} + \bar{z}^{pl} z^{pl'+j}) \right) \\ &= \begin{cases} \hat{\phi}(0) z^{pl'+j} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+j} & \text{if } l' = 0; \\ \hat{\phi}(0) z^{pl'+j} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+j} + \sum_{l=1}^{l'} \hat{\phi}(pl) z^{p(l'-l)+j} & \text{if } l' \geq 1; \end{cases} \end{aligned}$$

and

$$\begin{aligned} C_p^{i,j} T_\phi^* z^{pl'+i} &= C_p^{i,j} T_{\bar{\phi}} z^{pl'+i} \\ &= C_p^{i,j} P \left(\overline{\hat{\phi}(0)} z^{pl'+i} + \sum_{l=1}^{\infty} \overline{\hat{\phi}(pl)} (z^{p(l+l')+i} + \bar{z}^{pl} z^{pl'+i}) \right) \\ &= \begin{cases} C_p^{i,j} \left(\overline{\hat{\phi}(0)} z^{pl'+i} + \sum_{l=1}^{\infty} \overline{\hat{\phi}(pl)} z^{p(l+l')+i} \right) & \text{if } l' = 0; \\ C_p^{i,j} \left(\overline{\hat{\phi}(0)} z^{pl'+i} + \sum_{l=1}^{\infty} \overline{\hat{\phi}(pl)} z^{p(l+l')+i} + \sum_{l=1}^{l'} \overline{\hat{\phi}(pl)} z^{p(l'-l)+i} \right) & \text{if } l' \geq 1; \end{cases} \\ &= \begin{cases} \hat{\phi}(0) z^{pl'+j} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+j} & \text{if } l' = 0; \\ \hat{\phi}(0) z^{pl'+j} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+j} + \sum_{l=1}^{l'} \hat{\phi}(pl) z^{p(l'-l)+j} & \text{if } l' \geq 1. \end{cases} \end{aligned}$$

Similarly,

$$T_\phi C_p^{i,j} z^{pl'+j} = C_p^{i,j} T_\phi^* z^{pl'+j}.$$

When $r = 0, 1, \dots, p-1$ with $r \neq i, j$, we have

$$\begin{aligned} T_\phi C_p^{i,j} z^{pl'+r} &= C_p^{i,j} T_\phi^* z^{pl'+r} \\ &= \begin{cases} \hat{\phi}(0) z^{pl'+r} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+r} & \text{if } l' = 0; \\ \hat{\phi}(0) z^{pl'+r} + \sum_{l=1}^{\infty} \hat{\phi}(pl) z^{p(l+l')+r} + \sum_{l=1}^{l'} \hat{\phi}(pl) z^{p(l'-l)+r} & \text{if } l' \geq 1. \end{cases} \end{aligned}$$

Thus, $T_\phi C_p^{i,j} = C_p^{i,j} T_\phi^*$.

Conversely, assume T_ϕ is $C_p^{i,j}$ -symmetric. Let l, m be any non-negative integers. We first show that $\hat{\phi}(n) = 0$ for $|n| = pl + i, \dots, pl + j$. Since

$$\begin{aligned} \langle P(\bar{\phi} z^{pl+i}), C_p^{i,j} z^m \rangle_{H^2} &= \langle T_{\bar{\phi}} z^{pl+i}, C_p^{i,j} z^m \rangle_{H^2} = \langle z^m, C_p^{i,j} T_\phi^* z^{pl+i} \rangle_{H^2} \\ &= \langle z^m, T_\phi C_p^{i,j} z^{pl+i} \rangle_{H^2} = \langle T_{\bar{\phi}} z^m, C_p^{i,j} z^{pl+i} \rangle_{H^2} \\ &= \langle \bar{\phi} z^m, z^{pl+j} \rangle_{H^2} = \left\langle \sum_{n=-\infty}^{\infty} \overline{\hat{\phi}(n)} z^{m-n}, z^{pl+j} \right\rangle_{H^2} \\ &= \overline{\phi(m - pl - j)} \end{aligned}$$

and $\{C_p^{i,j} z^m\}_{m=0}^\infty$ is an orthonormal basis for H^2 , it follows that

$$\|P(\bar{\phi} z^{pl+i})\|^2 = \sum_{m=0}^\infty \left| \langle P(\bar{\phi} z^{pl+i}), C_p^{i,j} z^m \rangle_{H^2} \right|^2 = \sum_{m=0}^\infty |\hat{\phi}(m - pl - j)|^2 = \sum_{n=-pl-j}^\infty |\hat{\phi}(n)|^2.$$

On the other hand,

$$P(\bar{\phi} z^{pl+i}) = P\left(\sum_{n=-\infty}^\infty \overline{\hat{\phi}(n)} z^{pl+i-n}\right) = \sum_{n=-\infty}^{pl+i} \overline{\hat{\phi}(n)} z^{pl+i-n}$$

and so,

$$\|P(\bar{\phi} z^{pl+i})\|^2 = \sum_{n=-\infty}^{pl+i} |\hat{\phi}(n)|^2.$$

Thus,

$$(2.1) \quad \sum_{n=-pl-j}^\infty |\hat{\phi}(n)|^2 = \sum_{n=-\infty}^{pl+i} |\hat{\phi}(n)|^2.$$

By considering $P(\bar{\phi} z^{pl+j})$, we obtain

$$(2.2) \quad \sum_{n=-pl-i}^\infty |\hat{\phi}(n)|^2 = \sum_{n=-\infty}^{pl+j} |\hat{\phi}(n)|^2$$

in a similar fashion. From (2.1) and (2.2),

$$\sum_{n=-pl-j}^{-pl-i-1} |\hat{\phi}(n)|^2 = - \sum_{n=pl+i+1}^{pl+j} |\hat{\phi}(n)|^2$$

which implies

$$(2.3) \quad \hat{\phi}(n) = 0 \quad \text{for } |n| = pl + i + 1, \dots, pl + j.$$

Note that

$$(2.4) \quad \begin{aligned} T_\phi C_p^{i,j} z^{pl+i} &= T_\phi z^{pl+j} = P\left(\sum_{n=-\infty}^\infty \hat{\phi}(n) z^{pl+j+n}\right) \\ &= \sum_{n=-pl-j}^\infty \hat{\phi}(n) z^{pl+j+n} = \sum_{n=0}^\infty \hat{\phi}(n - pl - j) z^n \end{aligned}$$

and

$$(2.5) \quad \begin{aligned} C_p^{i,j} T_\phi^* z^{pl+i} &= C_p^{i,j} P\left(\sum_{n=-\infty}^\infty \overline{\hat{\phi}(n)} z^{pl+i-n}\right) \\ &= C_p^{i,j} \left(\sum_{n=-\infty}^{pl+i} \overline{\hat{\phi}(n)} z^{pl+i-n}\right) \\ &= C_p^{i,j} \left(\sum_{n=0}^\infty \overline{\hat{\phi}(pl+i-n)} z^n\right). \end{aligned}$$

Similarly,

$$(2.6) \quad T_\phi C_p^{i,j} z^{pl+j} = \sum_{n=0}^{\infty} \hat{\phi}(n - pl - i) z^n$$

and

$$(2.7) \quad C_p^{i,j} T_\phi^* z^{pl+j} = C_p^{i,j} \left(\sum_{n=0}^{\infty} \overline{\hat{\phi}(pl + j - n)} z^n \right).$$

Suppose $i \neq 0$ and k is any integer such that $0 \leq k \leq i - 1$. We claim that $\hat{\phi}(n) = 0$ for $|n| = pl + i - k$. Comparing the coefficients of z^k in the right most expressions of (2.4) and (2.5) as well as those of z^k in (2.6) and (2.7), we have

$$(2.8) \quad \hat{\phi}(k - pl - j) = \hat{\phi}(pl + i - k) \quad \text{and} \quad \hat{\phi}(k - pl - i) = \hat{\phi}(pl + j - k),$$

respectively. Since $i < j$, we also have

$$(2.9) \quad pl + i - k \leq pl + j - 1 - k \leq pl + j.$$

When $k = 0$, it follows from (2.8) and the fact $\hat{\phi}(-pl - j) = 0 = \hat{\phi}(pl + j)$ that $\hat{\phi}(n) = 0$ for $|n| = pl + i$. Assume there exists an integer k' such that $0 \leq k' < i - 1$ and $\hat{\phi}(n) = 0$ if $|n| = pl + i - k', \dots, pl + i$. By taking $k = k' + 1$ and $k = k'$ in (2.8) and (2.9) respectively, it follows from the induction assumption and (2.3) that $\hat{\phi}(pl + i - k' - 1) = 0 = \hat{\phi}(k' + 1 - pl - i)$. Therefore,

$$(2.10) \quad \hat{\phi}(n) = 0 \quad \text{for } |n| = pl + 1, \dots, pl + j$$

(if $i = 0$, then (2.10) is also true in light of (2.3)).

It remains to show that $\hat{\phi}(n) = 0$ for $|n| = pl + k$, where k is any integer with $j + 1 \leq k \leq p - 1$. Since p does not divide $2pl + k$, we have $2pl + i + k \neq pl' + i$ for all $l' \in \mathbb{N}$. Moreover, $2pl + i + k \neq pl' + j$ for every $l' \in \mathbb{N}$. Otherwise, $i - j + k = p(l' - 2l)$. This equality is absurd, because $i + 1 \leq i - j + k \leq p - 1 + i - j \leq p - 2 < p$. Comparing the coefficients of $z^{2pl+i+k}$ in the right most expressions of (2.4) and (2.5) as well as those of $z^{2pl+i+k}$ in (2.6) and (2.7) gives

$$(2.11) \quad \hat{\phi}(pl + i - j + k) = \hat{\phi}(-pl - k) \quad \text{and} \quad \hat{\phi}(pl + k) = \hat{\phi}(-pl - i + j - k),$$

respectively. Furthermore,

$$(2.12) \quad pl + i + 1 \leq pl + i - j + k \leq pl + k - 1.$$

When $k = j + 1$, it follows from (2.11) and the fact $\hat{\phi}(pl + i + 1) = 0 = \hat{\phi}(-pl - i - 1)$ that $\hat{\phi}(n) = 0$ for $|n| = pl + j + 1$. Assume there is an integer k' for which $j + 1 \leq k' < p - 1$ and $\hat{\phi}(n) = 0$ for $|n| = pl + j + 1, \dots, pl + k'$. Taking $k = k' + 1$ in (2.11) and (2.12), it follows from the induction assumption, (2.3), (2.11) and (2.12) that $\hat{\phi}(n) = 0$ for $|n| = pl + k' + 1$.

Hence $\hat{\phi}(pl + r) = 0$ for all integers l and $r = 1, \dots, p - 1$. Comparing the coefficients of z^j in the right most expressions of (2.4) and (2.5), we have

$$\hat{\phi}(-pl) = \hat{\phi}(pl)$$

for all non-negative integers l . The proof of the theorem is now complete. □

Chattopadhyaya et al. introduced another special case of C_σ in [1], namely the operator $C_n : H^2 \rightarrow H^2$ defined by

$$C_n \left(\sum_{l=0}^{\infty} \sum_{r=0}^{n-1} a_{nl+r} z^{nl+r} \right) = \sum_{l=0}^{\infty} \sum_{r=0}^{n-1} \overline{a_{nl+n-r-1}} z^{nl+r},$$

where $\sum_{l=0}^{\infty} \sum_{r=0}^{n-1} a_{nl+r} z^{nl+r} \in H^2$ and n is any fixed positive integer. They also obtained the following characterizations for T_ϕ to be C_n -symmetric.

Theorem 2.2. [1, Theorem 3.1] *Let $\phi(z) = \sum_{k=-\infty}^{\infty} \hat{\phi}(k) z^k \in L^\infty(\mathbb{T})$. Then the operator T_ϕ is C_n -symmetric if and only if*

$$\hat{\phi}(nl) = \hat{\phi}(-nl)$$

and

$$\hat{\phi}(nl+r) = 0$$

for every integer l and $r = 1, 2, \dots, n-1$.

The method adopted in proving Theorem 2.1 furnishes an alternative proof to the necessity part of Theorem 2.2: Assume T_ϕ is C_n -symmetric. Since $C_n z^{nl} = z^{nl+n-1}$, we have

$$\langle P(\bar{\phi} z^{nl}), C_n z^m \rangle_{H^2} = \overline{\hat{\phi}(m - nl - n + 1)}$$

for all non-negative integers l and m . The fact that $\{C_n z^m\}_{m=0}^{\infty}$ is an orthonormal basis for H^2 implies

$$\|P(\bar{\phi} z^{nl})\|^2 = \sum_{m=0}^{\infty} |\hat{\phi}(m - nl - n + 1)|^2 = \sum_{k=-nl-n+1}^{\infty} |\hat{\phi}(k)|^2.$$

Moreover,

$$\|P(\bar{\phi} z^{nl})\|^2 = \sum_{k=-\infty}^{nl} |\hat{\phi}(k)|^2.$$

Thus,

$$(2.13) \quad \sum_{k=-nl-n+1}^{\infty} |\hat{\phi}(k)|^2 = \sum_{k=-\infty}^{nl} |\hat{\phi}(k)|^2.$$

Considering $P(\bar{\phi} z^{nl+n-1})$ likewise, we obtain

$$(2.14) \quad \sum_{k=-nl}^{\infty} |\hat{\phi}(k)|^2 = \sum_{k=-\infty}^{nl+n-1} |\hat{\phi}(k)|^2.$$

Now, it follows from (2.13) and (2.14) that

$$\sum_{k=-nl-n+1}^{-nl-1} |\hat{\phi}(k)|^2 = - \sum_{k=nl+1}^{nl+n-1} |\hat{\phi}(k)|^2,$$

i.e., $\hat{\phi}(k) = 0$ for $|k| = nl+1, \dots, nl+n-1$. Furthermore,

$$(2.15) \quad \begin{aligned} T_\phi C_n z^{nl+n-1} &= T_\phi z^{nl} = P \left(\sum_{k=-\infty}^{\infty} \hat{\phi}(k) z^{nl+k} \right) \\ &= \sum_{k=-nl}^{\infty} \hat{\phi}(k) z^{nl+k} = \sum_{k=0}^{\infty} \hat{\phi}(k-nl) z^k \end{aligned}$$

and

$$\begin{aligned}
 C_n T_\phi^* z^{nl+n-1} &= C_n P \left(\sum_{k=-\infty}^{\infty} \overline{\hat{\phi}(k)} z^{nl+n-1-k} \right) \\
 &= C_n \left(\sum_{k=-\infty}^{nl+n-1} \overline{\hat{\phi}(k)} z^{nl+n-1-k} \right) \\
 (2.16) \qquad &= C_n \left(\sum_{k=0}^{\infty} \overline{\hat{\phi}(nl+n-1-k)} z^k \right).
 \end{aligned}$$

Upon comparing the constant terms in the right most expressions of (2.15) and (2.16), we have

$$\hat{\phi}(-nl) = \hat{\phi}(nl).$$

REFERENCES

- [1] A. Chattopadhyaya, S. Das, C. Pradhan and S. Sarkar: *Characterization of C-symmetric Toeplitz operators for a class of conjugations in Hardy spaces*, *Linear Multilinear Algebra*, **71** (2023), 2026–2048.
- [2] R. G. Douglas: *Banach Algebra Techniques in Operator Theory*, Graduate Texts in Mathematics, 2nd ed., Springer (1998).
- [3] M. T. Garayev, M. Gürdal: *Remarks on the zero Toeplitz product problem in the Bergman and Hardy spaces*, *Turkish J. Math.*, **42** (2018), 1504–1508.
- [4] M. T. Garayev, M. Gürdal, S. Saltan and U. Yamanci: *dist-formulas and Toeplitz operators*, *Ann. Funct. Anal.*, **6** (2015), 221–226.
- [5] S. R. Garcia, E. Prodan and M. Putinar: *Mathematical and physical aspects of complex symmetric operators*, *J. Phys. A*, **47** (2014), 54 pp.
- [6] S. R. Garcia, M. Putinar: *Complex symmetric operators and applications*, *Trans. Amer. Math. Soc.*, **358** (2006), 1285–1315.
- [7] S. R. Garcia, M. Putinar: *Complex symmetric operators and applications. II*, *Trans. Amer. Math. Soc.*, **359** (2007), 3913–3931.
- [8] S. R. Garcia, W. Wogen: *Some new classes of complex symmetric operators*, *Trans. Amer. Math. Soc.*, **362** (2010), 6065–6077.
- [9] K. Guo, S. Zhu: *A canonical decomposition of complex symmetric operators*, *J. Operator Theory*, **72** (2014), 529–547.
- [10] M. Gürdal, F. Söhret: *Some results for Toeplitz operators on the Bergman space*, *Appl. Math. Comput.*, **218** (2011), 789–793.
- [11] M. T. Karaev, M. Gürdal and U. Yamanci: *Some results related with Berezin symbols and Toeplitz operators*, *Math. Inequal. Appl.*, **17** (2014), 1031–1045.
- [12] E. Ko and J. E. Lee: *On complex symmetric Toeplitz operators*, *J. Math. Anal. Appl.*, **434** (2016), 20–34.
- [13] E. Ko, J. E. Lee and J. Lee: *Conjugations and complex symmetric Toeplitz operators on the weighted Hardy space*, *Mediterr. J. Math.*, **18** (2021), Article ID: 125.
- [14] E. Ko, J. E. Lee and J. Lee: *Complex symmetric Toeplitz operators on the weighted Bergman space*, *Complex Var. Elliptic Equ.*, **67** (2022), 1393–1408.
- [15] A. Li, Y. Liu and Y. Chen: *Complex symmetric Toeplitz operators on the Dirichlet space*, *J. Math. Anal. Appl.*, **487** (2020), 123998.
- [16] R. Li, Y. Yang and Y. Lu: *A class of complex symmetric Toeplitz operators on Hardy and Bergman spaces*, *J. Math. Anal. Appl.*, **489** (2020), 124173.
- [17] C. O. Lo, A. W. K. Loh: *Complex symmetric Toeplitz operators on Hilbert spaces of analytic functions*, *Mediterr. J. Math.*, **20** (2023), Article ID: 175.
- [18] K. Zhu: *Operator theory in function spaces*, 2nd ed., *Mathematical Surveys and Monographs*, **138**, Amer. Math. Soc., Providence (2007).

CHING-ON LO
THE HONG KONG POLYTECHNIC UNIVERSITY
DIVISION OF SCIENCE, ENGINEERING AND HEALTH STUDIES
COLLEGE OF PROFESSIONAL AND CONTINUING EDUCATION
ORCID: 0000-0003-2735-8726
Email address: co.lo@cpce-polyu.edu.hk

ANTHONY WAI-KEUNG LOH
THE HONG KONG POLYTECHNIC UNIVERSITY
DIVISION OF SCIENCE, ENGINEERING AND HEALTH STUDIES
COLLEGE OF PROFESSIONAL AND CONTINUING EDUCATION
ORCID: 0000-0002-2759-3198
Email address: anthony.wk.loh@cpce-polyu.edu.hk